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And one witness came and said I know of him that he is a kohain

OVERVIEW

The X mx gives a rather complicated case describing the np1?nn in the mwn
(according to °" that 22 M Ay PXR). Our MoOIN explains why a simpler case
would not be sufficient.

mooIn responds to an anticipated difficulty:
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The X3 did not want to say that 3"2w71 X" are arguing whether we are hy»

X"y 2"v 719772% when the 92 is ®0% -
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For it was obvious to the X723 to according to everyone the 9 will not be 212
this 3770 since there is an 7°w>»7 7v and the initial MWD nPIR —

mooin offers an alternate solution why the X713 does not use this case:
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And additionally the 71wn would not have referred to a »1p as 777w.

SUMMARY
All agree that a 2>w2ni 731 P10 are stronger than a 50197 9Ip. 1717 cannot mean a
balir

THINKING IT OVER
Can we infer from the 71 that according to the second answer it is not all that
certain that the 9p is ineffective against an MW NpIM WINT 737?

' The proposed case (where they argue) would be as follows; we are pinma that the father is a j72, there was a 21 that
he is a w173 712 and an X"V testifies that he is a 7w>. The argument is whether the X"v (together with the w3 npin) is
sufficiently strong to negate the 217 or not.

2 X" states in the (2,30) mwn that "1 Py ww 0pna vk, A 7P does not qualify as 177 (perhaps because 1y
indicates a strong assertive testimony [and an X"¥ would be considered 7171 if not for the ruling of >"-], whilst a 71p
is more like a passive undercurrent), therefore it was necessary to say that two 0’79 came to contest his 71175 status.
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